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Cost Quiz
1.
In this problem, fixed costs are $30 and per unit variable costs are $10.  Complete 
the following table (5 pts).

Units of





Average
Average
Average

Variable
   Total 
Marginal
Average
   Total
Marginal
   Total
   Fixed
Variable

Factor
Product
Product
Product
   Cost
  Cost
    Cost
   Cost
   Cost

	0
	0
	
	
	$30
	
	
	
	

	1
	2
	
	
	$40
	
	$20
	$15
	

	2
	5
	
	
	
	
	
	
	

	3
	7
	
	
	
	
	
	
	

	4
	8
	
	
	
	
	
	
	

	5
	8
	
	
	
	
	
	
	


2.
Graph the average and marginal product curves below (3 pts).
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3.
Graph the average (ATC and AVC) and marginal cost curves below (7 pts).




Show the price and quantities at which a firm would breakeven and also where the firm will shutdown.

_1105003922.unknown

_1105003923.unknown

_1105003921.unknown

